Year 7 Half Yearly Examlnatlon

Name: Time Allowed: 60 mmutes
Strand: Number (Allow approx. 30 minutes) . 6. -6+9=
1. Write down the letter used to name
each of these points:
: 7. A-(2+6)=

7 ¥

GtA ©x '

S5+ D )

4 8. 7-9=

3L

2_ - @ B

1

0 = x 9 1 x4=

01 2 4 56 1 . sl xa=

@ G0 _
® @5 © 10, -8x-T=
(c) (1,2) .
e 7.6
2. Use a directed number to represent “ 24+ 6 =
“60m below sea level.” CooTeE
3. Write a directed number to show the 3. 96+-12=

change described by “I was 12 km from home
and now I am 8 km from home.”

14, 13-12+4+4=

4. Graph the folloWiﬂg on a number line:
£2,1,3} © 15 (4-13)x(2+9)+3
5. . Arrange {6, -3, -5, 4} in order from 16.  Write the next 3 numbers in the

smallest to largest. number pattern; 5, 3, 1,..




17.

Two numbers multiply to make 15 and

add to make -8. What are the 2 mumbers?

18.
¥
4
3
8B 2
2 H LY}
N TRE
- oD

oL 2
(@ A=(__, )
b C=C_,_ )
() E=( _,_ 3
(d) T (4: "1)
© __ =(22)
19.  Convert the following into standard
numbers:
(a) VI
(by CLXII
() DCCIX
@ MDDV
(¢) IV CXCIX
20.  Convert the following to Roman
Numerals:
(a)A 37
(b) 645

(). 1979

(d 214726

21.  Write twenty-seven million, nine
hundred and fourteen thousand, six hundred
and eighty-three as a numeral.

22.  Wrte &7 285 in words.

23, What is the value of the 5 in 785 9439

24.  Express 20000 + 4000 + 900 + 50 + 1
as a basic numeral.

25.  Arrange in ascending (lowest to
highest) order:

52 398,7 610,300 477, 19 342

26.  Write (9 x 1000 000) + (3 x 100 000}
+(8 x 10 000) + (1 % 100) + (5 x 10) + (7
1) as a basic numeral. ' C

27.  Write 9 306 in expanded form (same
form as question 26)

28.  Insert sets of brackets to make the
following statement true:

6+2x8-5=24



29. Is32.4>327

30. Write 3 Even Numbers

31.  Write 3 Triangular Numbers

32.  Write 3 Square Numbers

33:. List alf the factors of 28.

34.  Find the Highest Common Factor
(HCF) 0f 28 and 32.

35.  List the first 4 multiples of 9.

36.  Find the Lowest Common Multiple
(LCM) of 9 and 12.

37.  Listall the prime numbers between 10
and 30. :

“38.  Listall the composite numbers

between 5 and 17.

39.  Complete a factor tree for:

100

40.  Express 100 as a product of its prime

~ factors.

41, 4f81=

42.  ed=

43,  Express 3 x 3 x 3 x 3 in index form,

Strand: Geometry (Allow approx. 15
minntes)- :

1. Wame two shapes that have no straight
sides.

2. How many sides does a hexagon
have?
3. Sketch a trapezium.



4. The following pentagon has been
formed by combining two shapes. What are
the shapes?

5. Name the following shape:

6. Name all the shapes you s¢e in the
following diagram:

7. Name the transformation that has
~ taken place in cach of the following diagrams:

(a)

- (®)

8. Perform the following transformations
on the diagram below:

(@)  Translate 3 cmtorightand 1 cm
down.

(b)  Reflect on the right hand edge.

9. Show any axes of symmetry on the
following shapes:

) '
(c)
10.  Which of the following shapes have

point symmetry? If they do, write down what
order of point symmetry they have.

a) . .
@) Circle - Point Symmetry?

, | YES NO

" Order Gf any} 7

(b) . : '
) Circle - Point Symmetry?

YES NO

Order (if any)



©

Cizele - Point Symmetry?
YES NO

.Order {if any)

11.  Complete the following tessellation:

>

'
:
i
H

i
Strand: Measurement (Allow approx. 5
ninutes)

1. Sm= cIm,

2. ‘What instroment would be used to
measure the width of a box of cereal?

3. Find the length of the fence around the
following paddocks:

(2)

(b) Scm

Jom

9cm -+

L Sem

10 cm

4. How many days m a fortnight?.

5. 120 min = hours.
Strand: Data (Allow approx. 5 minuftes)

1. Use these numbers to answer the
following questions:

23,16, 20, 18,24, 19, 20

(a)  Arrange the numbers from smallest to
largest.

(b)  What is the middle number after they
have been arranged from smallest to largest?

(¢)  What number appears most often?

(d)  Whatis the difference between the
highest number and the lowest number?

()  Add all the numbers up and then
divide it by 7. What is your result?

Strand: Patterns (Allow approx. 5 minutes)

Write down the next three numbers in the
following:

A 3

@  5,10,15,

b 26,22, 18, R

© 4916 ___,

@ 60,50, 41,

b) 3







+

/ol

(9)(wy

Year 7 - Half Year amination
Name:\f‘:('j‘@( Chus Vw‘t’

Time Allowed: 60 minutes

Strand: Number (Allow approx. 30 minutes)

1. Write down the letter used to name
each of these points:

7t"‘
64 A ok

5k eD

4 -

31

2@ 8

| +
O—L—l—?—l—‘—'-——‘—bc X
01 2 4 56 7 °

@ @o LV
® @ D7
@ a2y B Y
@ oo A/
© oo £ 7/

2. Use a directed number to represent
“60m below sea level.”

-60m

3, Write a directed number to show the
change described by “T was 12 km from home
and now I am & km from home.”

U fpn S

4. Graph the following on a number line:

e PR Y Y S | /\

] 3
~ 1IYIUI% 19 7

i &
432 01 23 4
5. Arrange {6, -3, -5, 4} in order from
smallest to largest.

-5, -3 ot

{_2! ]%’ 3}

6. -6+9=

5 /7 |
EE-

“4(dy b)) ~ipga -

7. A(2+6)= -4 -4

""{[E’X = -8

8  7--9=

'No v

9. dlxd=
by
10. L x-7=
o /S
1, (97 =
‘&
12, 24 +6=
-4
13, 96+-12=

2/

' S
14, 13-12+4+4=
’%‘X i3~gi4 = v (‘;’” .

-7 "8 1
15, (4-13)x{-2+9 =3

\'\*\IIX - 21

6. Write the next 3 numbers in the
number pattern: 5, 3, 1,... /7

-3 -5 =

* A0



koo
(o0
Qo

17. Two numbers multiply to make 15 and
add to make -8,

5 3/

What are the 2 numbers?

18.

W

@ A=(3 |

NI

& c=0, ~y/
© E=("2,"2)/

@ O =@y

(e) 6

22

19.  Convert the following into standard

© Texerx Golde

numbers:
(a) VII
50
{b) CLXI
(c) DCCIX
%3
(d) MDV
&
20, Convert
Numerals:
(a) 37
(b) 645
(c) 1979
(d) 214 726

1V
5% /

L,IDS /

\/

the following to Roman

AV /
OexLV /
MEMOCCIR

CCxIV B CEXXYS

21, Write twenty-seven million, ninc
hundred and fourteen thousand, six hundred
and eighty-three as a numeral,

217 Al 6%% v

22. Write 47 285 in words.
A Forby -seven thousand Fwo lwndied
J

and @ity eigkhy Fwe-
A A iy e

23, What is the value of the 5 in 785 9437
5000 (Hhousancds) v~

24.  Express 20000 + 4000 + 900+ 50 + 1
as a basic numeral,

2445\

25.  Amange in ascending (lowest to
highest) order:

52 398, 7,610 300 477,19 Y2 -
Tt ol0 19342, 57 3%6 200 477 /

o0 o 300 260
26. g Waite (9 x 1009 000) +é%x 100 000)_
+(8x 10 000) + (1'% 100) + (5 x 10) + (7 x
1} as a basic numeral.

1380157

27.  Write 9 306 in expanded form (same
form as question 26)

q\xlCJO\ +{(3nc0) b"\‘) /

28. Insert sets of brackets to make the

following statement true:
57

(6+2)«(8 -55)= 24




29, 1532.4>327
Ve,

30. Write 3 Even Numbers

i.ﬂ Li' . 6 '\/
T F

31.  Write 3 Triangular Numbers

) 3)6110 ‘/

32, Write 3 Square Numbers

k16, 75
—

33, List all the factors of 28.
3T, 0 2%/
‘ T 7 7

34, Find the Highest Common Factor
(HCF) of 28 and 32.

¥ /

35.  List the first 4 multiples of 9.
418,27 36 /
[ ¥ !

36.  Find the Lowest Common Multiple
(LCM) of 9 and I2.

3o

37.  List all the prime numbers between 10
and 30.

113,17 19,13,28 v/

38..  List all the composite numbers
between 5 and 17.

6.%,3,10,12, 1 15,10 /

39.  Complete a factor tree for:

100

I
o 1O

N~
25 424 /

40.  Express 100 as a product of its prime
factors.

2?5
41.  f81=

1 /S
42.  6d =

Lk /

43, ¢ Express 3 x 3 x 3 x 3 in index form.

3

Strand: Geometry (Allow approx. 15
minutes)

1. Name two shapes that have no straight
sides.

Citcle 0ol /

2. How many sides does a hexagon
have? /
3, Sketch a trapezium.




4. The following pentagon has been 8. Perform the following transformations
formed by combining two shapes. What are on the diagram below:

the shapes?
(a)  Translate 3 cm to right and | cm

down. B

/—‘—’%

A |
irigagle ond Toapzziuna /

-

5. Name the following shape: (b)  Reflect on the right hand edge.

Hexegon v/

. 9. Show any axes of symmetry on the
6. Name all the shapes you see in the following shapes:
following diagram:
- (@) :

b
P e e
: : [ D /
y j

Tridnaces and Rt Pecdlelogram. . |
~J

7. Name the transformation that has
taken place in each of the following diagrams:

—¢

Mircor Ret{oction ‘/ 10.  Which of the following shapes have
point symmetry? If they do, write down what

(a)

b
(o) order of point symmetry they have.
Sig (3&2 ' / @ Circle - Point Symmetry?
(c) YES @ '/
Order (if any) _

(b)

-Circle - Point Syphmetry? .

@ "o

Qrder (if any) .




(c)
Circle - Point ‘S/yn;lllclxy'?
@
Order (if any) _
11.  Complete the following tessellation:

Strand: Measurement (Allow approx. §

mintes)

2. What instrument would be used to
measure the width of a box of cereal?

Ruler  V/

1. Sm=%800 ¢

3. Find the length of the fence around the
following paddocks:

()

19

(b)

5em

Jem

9 cnr -

S.cm

2 10 em
,59./&%"0 'y}

4, How many days in a fortnight?
14 days
a7
5. 120 min = hours,

Strand: Data (Allow approx. § minutes)

1.

Use these numbers to answer the

following questions:

(a)

largest.

23,16, 20, 18, 24, 19, 20

Arrange the numbers from smallest to

1b,1%,19,20 20,2324 /

(&)

What is the middle number after they

have been arranged from smallest to targest?

1.0

/

{c)
70

What number appears most often?

¥

(d)

highest

What is the difference between the
number and the lowest number?

&/

(e)

Add all the numbers up and then

divide it by 7. What is your result?

10

Strand:

Patterns (Allow approx. § minuntes)

Write down the next three numbers in the
following:

(a)
(b)
(c)
(d)

5,10,15, %2 ,25 30 Ve

26,22,18, 14 10 6 /

cole 5 .36 .44 S

60, 50,41, %3 , 26 20 / /é
- —

/]







